
Parts Prices
Parts prices subject to change without notice

Part No. Description Price $ Part No. Description Price $
00092 Flange #4 Brass.........................................$252.00
00109 Flange #1-2 Brass......................................$214.00
00125 Dial Holder....................................................$34.00
00448 Gasket F/C.....................................................$6.00
00852 Coupling Gasket 1-1/2"...................................$9.00
00935 Coupling Gasket 2".......................................$19.00
01016 Cylinder #4 Brass.......................................$204.00
01024 Cylinder #1-2 Brass....................................$124.00
01040 Cylinder #8 Aluminum................................$204.00
01058 Diaphragm #4 CS EPDM..............................$89.00
01066 Diaphragm #1 & 2 CS EPDM.......................$81.00
01074 Diaphragm A3 CS EPDM...........................$133.00
01082 Diaphragm #4CS Viton...............................$153.00
01090 Diaphragm #1/2CS Viton............................$121.00
01106 Diaphragm A3 CS Viton.............................$100.00
01115 Head Acrylic #4 Standard Cap...................$116.00
01123 Head Acrylic #1-2 Standard Cap................$104.00
01149 Head PVC #4 Standard Cap.........................$98.00
01157 Head PVC #1-2 Standard Cap.....................$79.00
01173 Screw 10-32x3/4 Trim Hex Hd SS..................$2.00
01181 Stud-#1-2-4-T4...............................................$4.00
01198 Flange A3 Brass Rnd Sld...........................$158.00
01205 Screw 8-32x1-1/2 Sqr.....................................$1.00
01214 Spring #1-2-4 Head......................................$45.00
01222 Spring For #0-A3-T4.....................................$14.00
01272 Screw 10-32x1/2.............................................$1.00
01280 Screw For Pad Retainer.................................$3.00
01298 Screw 1/4-20 x 1/2 Pan Head.........................$2.00
01339 Dial Crown Gear...........................................$18.00
01347 Stroke Control Shaft.....................................$35.00
01355 S.C.S. Pad-24...............................................$12.00
01363 O-Ring -For Stroke Shaft 2-109......................$1.00
01371 Screw 10-32X5/16 Phlps Pan SS...................$1.00
01404 Screw 8-32 x 1-5/8 Phlps 18-8.......................$1.00
01412 Dial Cover Hea...............................................$6.00
01503 Dial Scale Med. Complete............................$30.00
01511 Dial Scale Sticker - #4....................................$3.00
01529 Cylinder A10 Brass.....................................$114.00
01537 Cylinder A20 Brass.....................................$188.00
01610 Dial Scale Sticker - #1....................................$4.00
01660 S.C.S. Pad-#1...............................................$16.00
01686 O-Ring Viton (2-114)......................................$2.00
01694 O-Ring Viton (2-113)......................................$2.00
01701 O-Ring Viton (2-010)......................................$2.00
01719 Ball Poppet Ceramic  5/16..............................$5.00
01743 Tube Nut PVC-3/8 Tube.................................$7.00
01777 F-Valve Body................................................$21.00
01785 F-Valve Screen.............................................$12.00

01793 F-Valve Adapter............................................$20.00
01800 Gasket Footvalve............................................$6.00
01818 F-Valve Nut.....................................................$7.00
01917 Ball Poppet SS 5/16........................................$1.00
01991 Kit Poppets SSV...........................................$10.00
02087 Standoff 6-32 x 7/16 PVC...............................$3.00
02162 Head Acrylic #1-2 Hi Cap............................$109.00
02170 Head PVC #1-2 Hi Cap...............................$155.00
02197 Bulkhead Fitting 3/4" FNPT...........................$27.00
02204 Ball Valve PVC 3/4" FNPT............................$15.00
02220 Strainer PP 3/4" FNPT 20 Mesh...................$48.00
02238 Quick Connect Female x 3/4" MNPT............$36.00
02246 Quick Connect Male x 3/4" HB......................$30.00
02519 M101 GH Adapter Kit ...................................$45.00
02526 Valve Set-Single S And D Valve...................$44.00
02534 Valve Set- Double S And D Valves...............$77.00
02542 Adapter 1/4 NPT F To 3/8 Tube....................$21.00
02550 Kit DD/DB Air & Water................................$376.00
02568 Kit DD/DB Air Only......................................$126.00
02576 Kit DD/DB Wall Mount Air...........................$205.00
02584 Kit J Air & Water..........................................$415.00
02609 Kit J High Capacity Muffler............................$60.00
02617 Air Fitting 1/4" Male.........................................$8.00
02625 Nipple 1/4"x1-1/2"...........................................$7.00
02633 Pressure Gage 1/8" 200psi...........................$37.00
02659 Air Regulator 1/4"........................................$135.00
02667 Ball Valve ½" T Handle.................................$39.00
02675 Close Nipple 1/4"............................................$6.00
02683 Ball Valve 1/4" T Handle...............................$33.00
02691 Tee 1/2"x3/4"x3/4" Brass..............................$48.00
02708 T Handle Ball Valve 3/4"...............................$54.00
02716 Air Muffler 3/4 NPT.......................................$48.00
02824 Inlet/Outlet Kit 1".........................................$284.00
02832 Inlet/Outlet Kit 1-1/2"...................................$647.00
02840 Inlet/Outlet Kit 2".........................................$949.00
02857 D Valve Single Complete..............................$28.00
02857S D Valve Single Complete- SS Ball................$34.00
03160 O-Ring 2-141 Buna.........................................$3.00
03202 Fuse 1.6A Slow Blow......................................$5.00
03394 Plug Brass 1/4 Hex Socket.............................$9.00
03400 Sensor Cable Boot........................................$18.00
03459 Oring Buna 007...............................................$1.00
03467 Screw 8-32 x 1/4 SS Bh..................................$1.00
03476 Lockwasher #10..............................................$2.00
03559 Screw 6-32x1/4 SLTD BH 18-8.......................$1.00
03583 Screw 6-32X1.................................................$1.00
03591 Screw 8-32x3/8...............................................$1.00
03624 Hex Nut 6-32...................................................$1.00

H.E. Anderson Co. 1 05/10/23



03632 Hex Nut 8-32..................................................$1.00
03640 Washer #8 S.S...............................................$1.00
03658 Lockwasher #6...............................................$1.00
03666 Lockwasher #8...............................................$1.00
03681 Waterproof Grease 10 Oz Tube...................$34.00
03781 Spring-0.26 OD x 0.700 Lg (04094)................$4.00
03806 DVC Body 1/2-Int Threaded.........................$24.00
03830 IPF 1/2" Priming-Complete.........................$102.00
04028 Tube Adapter................................................$15.00
04036 D Valve Body-PVC (02857)..........................$16.00
04094 IPF 1/2" Universal-Complete......................$143.00
04094S IPF 1/2" Universal-Complete-SS Ball.........$174.00
04101 Body For 04094............................................$98.00
04119 Cover For 04094...........................................$39.00
04126 Vent Adapter- 3/8-24 x 3/8 Tube..................$14.00
04151 Body For S-Valve - PVC...............................$18.00
04167 Body Double Valve Conversion- PVC..........$16.00
04177 Battery 3v CR2032.........................................$8.00
04185 Adptr 1/4MNPTx3/8 OD Tube Yllw.................$4.00
04193 Adptr 1/4MNPTx3/8 OD Tube UHMW..........$15.00
04200 Body For 03830............................................$33.00
04218 Adapter 1/4NPTm x 3/8 OD Tube.................$15.00
04226 Needle PVC For Air Release........................$11.00
04234 Nozzle-Standard PVC 1/4 x 4.......................$10.00
04242 Nozzle-3/4 Inch...............................................$8.00
04250 Nozzle-1&1-1/4 Inch.......................................$8.00
04268 Pin PVC For IPF Nozzle.................................$1.00
04275 Nozzle 7-4/4"................................................$13.00
04283 Nozzle 12 Inch For IPF.................................$18.00
04308 Nozzle 2-3/8 Inch For IPF...............................$8.00
04391 Nozzle 1-1/2&2 Inch For IPF........................$10.00
04408 Nozzle Wall Mnt/Porta-Gro...........................$10.00
04416 Diaphragm Complete 1/2 IPF.......................$30.00
04424 Pad For 1/2 IPF..............................................$4.00
04474 Diaphragm Complete IPF Round..................$23.00
04490 IPF Universal Complete Round..................$140.00
04599 Nut 1/4-20 Hex SS..........................................$2.00
04605 Washer 1/4 Flat SS........................................$1.00
04632 Diaphragm Kit A10 Teflon LP.....................$327.00
04721 Power Supply 12VDC 6.3A...........................$55.00
04739 Screw O-Ring 8-32 x 1/4................................$3.00
05399 Kit For 1/2 Inch IPF Round...........................$31.00
05404 Kit For 1/2 Inch IPF.......................................$31.00
05412 Kit For 1 Inch  IPF.........................................$38.00
05420 O-Ring (2-008)-For 409 &Needle...................$2.00
06031 Hole Plug 1/2..................................................$1.00
06479 Probe Plug....................................................$37.00
06694 Adapter Vent Tube.........................................$5.00
06728 Repair Kit Double Check Valve....................$18.00
06735 Repair Kit Single Check Valve......................$12.00
06742 Suction Valve Complete PVC Cer Single.....$21.00
06742S Suction Valve Complete PVC SS Single......$22.00
06884 Tubing Bulk 3/8 OD FEP Clear.....................$11.00
06892 Tubing Bulk 3/8 OD Black..............................$1.59
06909 Tubing Bulk 3/8 OD Clear...............................$0.58
06916 Kit pH Calibration..........................................$25.00
06924 pH Pillows-10 Ea..........................................$29.00
06940 pH Cal Bottle..................................................$5.00
06991 Union Brass 1/2 T x T...................................$31.00
07004 Union Brass 3/4 T x T...................................$33.00

07013 Nipple Brass 3/4 x Close.................................$7.00
07021 Nipple Brass 3/4 x 2-1/2................................$11.00
07139 Plug 1/2 Inch Brass.........................................$7.00
07238 Grease Waterproof Small Packe.....................$2.20
07288 Univ Suction Ftg Complete Cer Ball..............$42.00
07288S Univ Suction Ftg Complete SS Ball...............$66.00
07460 Blend Tube Assy 8 Gal Tank........................$66.00
07519 Test Cap 1-1/2 Inch Sch 40............................$3.00
07527 Blend Tank 16 Gallon SS ........................$1,450.00
07569 Blend Tank 8 Gallon Plastic........................$636.00
07584 Plug PVC 80 3/4"T..........................................$9.00
07592 Plug PVC 2.5 Inch Sch 40............................$17.00
07617 Bushing PVC 3T x 2T...................................$30.00
07634 Washer For 07577 Valve..............................$10.00
07642 Diaphragm Assy Type AS Pilot.....................$44.00
07650 Poppet Body Diaphragm End 3/8..................$93.00
07668 Poppet 3/8 Type S & AS Valve.....................$12.00
07676 Poppet Shaft 3/8 Type AS Valve...................$73.00
07684 Poppet Cap 3/8 Type S Valve.......................$42.00
07692 Spring 3/8 Type S Valve.................................$7.00
07709 Blend Tank 60 Gallon SS ........................$2,500.00
07740 Ball Poppet Ceramic 3/4...............................$46.00
07775 Bushing Brass 1/2 x 1/4..................................$8.00
07873 O-Ring Viton (127) for Probe..........................$2.00
07922 Kit -Pumper To Manifold Add-On................$109.00
08062 Hose Clamp 1”................................................$6.00
08070 Hose Clamp 3/4".............................................$3.00
08198 Gasket For PVC Turbine Cover....................$46.00
08209 Retainer Pin For Insertion Meter...................$84.00
08243 3 Cond. Cable w/o Shield...............................$2.00
08343 O-Ring -- Insertion Meter PVC........................$5.00
08390 Bushing PP80 1-1/2” MT x 1” FT....................$8.00
08649 Calibration Standpipe Assy.........................$258.00
08889 Diaphragm Kit A3 Viton...............................$176.00
08905 Diaphragm Kit #1&2 Viton...........................$185.00
08913 Diaphragm Kit #1&2 Std.............................$149.00
08921 Diaphragm Kit #4 Viton...............................$224.00
08939 Diaphragm Kit #4 Std..................................$175.00
08948 Insertion Impeller Meter 1-3".......................$852.00
08956 Insertion Impeller Meter 4-8".......................$919.00
08964 Kit Rotor w/Shaft & Bearings.......................$282.00
09001 Hosebarb PP 1" NPTx1" Straight....................$6.00
09019 Ell PP 1" 90º F/F...........................................$14.00
09027 Hosebarb PP 1" NPT x 1" 90º.........................$7.00
09085 Bushing PP80 1"MT x 3/4"FT.........................$9.00
09093 Reducer Nipple PP 1-1/2 Mx1" M.................$10.00
09118 Washer 3/8" SS Flat........................................$1.00
09127 Hosebarb PP 3/4" NPT x 3/4..........................$7.00
09134 Mounting Plate DB......................................$128.00
09143 Hosebarb PP 1/2" NPT x 3/4..........................$7.00
09275 Valve- Dbl Discharge PVC............................$44.00
09275G Valve- Dbl Discharge PVC w/Spring.............$58.00
09275S Valve- Dbl Discharge PVC/SS......................$43.00
09391 Diaphragm #4 WS EPDM...........................$107.00
09424 Diaphragm #8 CS EPDM............................$112.00
09432 Hose Red 3/4 Inch Bulk..................................$3.00
09449 Hose Red 1 Inch Bulk.....................................$4.00
09557 Suction Valve SP..........................................$74.00
09565 Discharge Valve SP......................................$74.00
09573 Screw 1/4-20x2-1/4 SS Pan Hd......................$5.00

H.E. Anderson Co. 2 05/10/23



09581 Diaphragm SP 15 GPD................................$86.00
09599 Diaphragm SP 30 and 45.............................$86.00
09622 Tubing Bulk 1/4 Black.....................................$3.00
09630 Cylinder Low Pressure Brass.....................$282.00
09698 Adapter Brass 3/4MGH x 3/4MNPT..............$10.00
09705 Adapter Brass 3/4FNPT x FGH....................$16.00
09721 Stroke Control Shaft Lock Ring......................$2.25
09738 Coupling Gasket 1".........................................$7.00
09812 Suction Valve Dbl Complete.........................$37.00
09812G Suction Valve Dbl Complete w/Spring..........$47.00
09812S Suction Valve  Dbl Complete w/SS Balls......$39.00
09820 Valve Doubler Complete...............................$14.00
09838 IPF Plain 1/2 Inch.........................................$34.00
09838S IPF Plain 1/2" w/SS Ball...............................$34.00
09870 Gauge 200 PSI.............................................$20.00
09929 Stud 1/4-20 x 2-3/8.........................................$6.00
09995 Spring-Low Pres...........................................$32.00
10009 Spring Guide-LP.........................................$102.00
10311 Air Muffler 1/2 NPT.......................................$34.00
10661 Diaphragm Kit #1&2 Std LP........................$159.00
10679 Diaphragm Kit #1&2 Viton LP.....................$197.00
11239 Fuse 1/2 Amp  SS........................................$11.00
11312 pH Sensor Kit Digital..................................$653.00
11320 EC Sensor Kit Digital..................................$688.00
11338 Temp Sensor Kit Digital..............................$220.00
11345 Spring B -For 1 Inch IPF...............................$10.00
11353 Spacer-Diaphragm LP....................................$8.00
11361 Calibration Scale Assy..................................$89.00
11387 Standpipe Tube Assy.................................$174.00
11395 Calibration Pipe Valve Assy........................$137.00
11402 Adapter 1/2 NPSM x 3/8 OD Tub.................$13.00
11419 Screw 10-32x5/8 Trim Hex Hd SS..................$1.00
11437 pH Sensor Kit Analog.................................$714.00
11445 EC Sensor Kit Toroidal w/ Display...........$2,507.00
11454 Silicon Grease 5.3 Oz. Tube.........................$52.00
11461 Pressure Sensor Cable Analog....................$52.00
11479 Strain Bushing For 1/2 Hole............................$8.00
11487 Tee for Toroidal EC Sensor........................$220.00
11495 EC Sensor Kit Toroidal............................$1,763.00
11501 Temp Sensor E1-EP Complete..................$157.00
11519 EC Electrode E1-EP Complete...................$198.00
11528 Temp Sensor Kit Analog.............................$450.00
11544 pH Converter PC Board Assy.....................$275.00
11552 pH Converter Module.................................$397.00
11560 Temp Sensor Analog 4-20mA....................$476.00
11577 Temp Sensor Cable Analog..........................$11.00
11586 pH Probe w/BNC (P-2)...............................$277.00
11601 Pressure Sensor Kit Analog........................$504.00
11618 Head PVC #4 Hi Cap  Gray........................$199.00
11627 Signal Converter Analog pH.......................$590.00
11635 FT-430 Rate & Total Indicator....................$672.00
11676 Ball Poppet SS 3/4.......................................$22.00
11684 O-Ring Viton (2-215)......................................$5.00
11692 Hosebarb 1/2x1/2 NPSM UHMW...................$5.00
11709 O-Ring Viton (2-112)......................................$6.00
11717 Hose Clamp 1/2 Inch SS................................$2.00
11733 Tee Brass 1/2 Inch.......................................$15.00
11741 Hosebarb 1/2 w/O-Ring................................$14.00
11841 Nipple Brass 1/2 x 6.....................................$20.00
11867 Nipple Brass 1/2 x 5.....................................$20.00

11891 Nipple Brass 1/2 x 3 Inch..............................$10.00
11908 Nipple Brass 1/2 x Close.................................$6.00
12063 Hose 1/2 Clear Braided Bulk...........................$2.04
12089 O-Ring Cord Stock 3/32 Buna N.....................$2.00
12129 Handle Ball Valve............................................$0.00
12137 Handle Spacer PVC........................................$4.00
12145 Multi-Adapter 1/2 NPT Brass........................$73.00
12153 Silicone Grease Small Packet.........................$6.00
12161 Screw 1/4-20 x 3/4 SS Flat Skt.......................$2.00
12203 Screw O-Ring 10-32 x 1/4...............................$5.00
12211 Screw 1/4-20 x 1/2 SS Hex.............................$2.00
12237 Handle Multiadapter Shutoff.........................$15.00
12244 Multi-adapter Shutoff.....................................$96.00
12253 Washer Star....................................................$1.00
12261 Nut SS 10-32..................................................$1.00
12278 Multi-adapter Shutoff Body...........................$85.00
12286 Valve Ball SS................................................$21.00
12294 Ball Retainer...................................................$5.00
12301 Ball Seat.........................................................$2.00
12319 Ball Shaft........................................................$5.00
12335 Screw 4-40 x 1/2 SS Phlps.............................$1.00
12343 O-Ring (2-011)................................................$1.00
12352 O-Ring (2-024)-For Type S Val.......................$2.00
12401 Multiadapter S-O Rebuild Kit..........................$5.00
12418 Head PVC #4 Hi Cap Black..........................$97.00
12519 Valve- Inline Check 3/8 Complete.................$34.00
13334 Foot Valve/Flush Fitting 1/4..........................$45.00
13341 Foot Valve/Flush Fitting 1/2..........................$45.00
13359 Body Inline Check ¼ FNPT...........................$16.00
13368 Adapter Inline Check ¼ FNPT......................$16.00
13391 Foot Valve GH Adapter 1/2...........................$20.00
13400 Strainer Retainer...........................................$15.00
13459 Foot Valve GH Adapter 1/4...........................$20.00
13483 Pad A -For 1 Inch IPF.....................................$6.00
13772 Head Acrylic #4 Hi Cap...............................$160.00
13780 Valve Body Inline Check 1/4 NPT (07948)....$20.00
13798 Valve-Adapter Inline Check 1/4 NPT............$16.00
14109 MM 3/4 & 1 Pickup Board.............................$90.00
14109HV Pickup Board Complete-High V....................$84.00
14340 RG Avd Control Module Assy.....................$672.00
14423 TM Pickup Board Complete..........................$68.00
14555 Keypad Nameplate Window........................$172.00
14712 Pressure Sensor 150PSI............................$504.00
14770 Nut 10-24 SS..................................................$1.00
14788 Washer #10 SS...............................................$1.00
14861 Air Regulator 1/2.........................................$181.00
14895 Air Muffler 3/4 NPT High Flow.......................$88.00
14952 Umbrella Valve Viton......................................$4.00
14969 Nameplate RG Advanced.............................$20.00
14978 EC/Temp Cable Complete............................$47.00
14985 Cable 3 Cond w/o shield 15 FT.....................$37.00
15008 J Advanced Controller..............................$1,497.00
15017 J Advanced Controller 12VDC.................$1,497.00
15024 Coupling PVC80 1 S x 1 T............................$16.00
15032 Coupling PVC 1S x 1S..................................$15.00
15041 Ratio:Guard Advanced Control................$1,497.00
15124 Union PVC 3/4 TxT.......................................$49.00
15140 Coupling Brass 3/4 Inch................................$12.00
15174 pH Pillow 4......................................................$3.00
15182 pH Pillow 7......................................................$3.00

H.E. Anderson Co. 3 05/10/23



15231 Pickup Board J Complete.............................$91.00
15356 Meter Coupling 3/4 Inch...............................$38.00
15364 Coupling Gasket 5/8.......................................$4.00
15372 Meter Coupling 1 Inch..................................$51.00
15455 J Advanced Control Module Assy...............$636.00
15570 J Advanced I/O Board Assy........................$672.00
15596 Bushing PP80 1-1/4 x 1..................................$4.00
15598 PLUG PVC 80 1"T..........................................$5.00
15609 Bushing PP80 1" MT x 1/2" FT.......................$5.50
15610 Tee PVC80 1 Inch SxSxT.............................$14.00
15621 Bushing PVC80 3/4 S x 1/2 T.........................$5.00
15632 Bushing PVC80 1S x .75 T.............................$9.00
15644 Bushing PVC80 1S x .5 T...............................$9.00
15661 I/O Board RG Adv. Assy..........................$1,057.00
15709 Ell Brass 1/2 Street.......................................$12.00
15710 Nipple Brass 1/2 x 1-1/2...............................$10.00
15736 J Advanced Controller Outdoor...............$1,704.00
15851 Nameplate J Advanced................................$20.00
15877 Nameplate Water Meter...............................$30.00
16286 Coupling PVC 1/4 Inch NPT...........................$9.00
16309 O-Ring Viton (2-015)......................................$1.00
16421 Adapter Brass 1/2MNPTx3/4MNPT..............$25.00
16432 Adapter Brass 1/2MNPTx3/4FNPT...............$28.00
16465 Foot Valve Adapter PVC..............................$16.00
16476 Foot Valve Body PVC...................................$16.00
16487 Foot Valve Complete 1/4 NPTF....................$38.00
16487S Foot Valve Complete 1/4 NPTF SS Ball.......$38.00
16510 Diaphragm A3 w/Teflon Face.....................$142.00
16521 Stand SS Multi..............................................$73.00
16543 Endcap-For 1 Inch 16ga Sqr Tu...................$68.00
16594 Jet Meter PP 3/4" FNPT.............................$874.00
16610 Turbine Meter-3 Inch PVC.......................$3,975.00
16621 Turbine Meter-4 Inch PVC.......................$4,071.00
16732 O-Ring 3-6......................................................$1.00
16776 Gasket For 05877 Enclosure........................$25.00
16821 Dial Scale #0/2/4 Complete..........................$50.00
16832 Dial Scale #1 Complete................................$50.00
16843 Pet Cock Drain Plug 1/4 NPT.......................$11.00
16893 Dial Scale A3 Complete................................$50.00
16901 Dial Scale A10 Complete..............................$50.00
16943 S.C.S. Pad  A3/T4........................................$13.00
16954 Meter Coupling 1-1/2 Brass J.......................$69.00
16965 Meter Coupling 2 Inch Brass J......................$97.00
17008 Suction Pipe 3/8 x33 1-Piece........................$73.00
17016 Tube PVC Sch80 1/4NPTx33 in...................$21.00
17021 Suction Pipe 3/8 x18 1-Piece........................$65.00
17032 Diaphragm Kit A3 Teflon............................$205.00
17076 Nipple PVC Sch80 1/4NPTx16.5 in..............$12.00
17087 Suction Pipe 3/8 x33 2-peice........................$72.00
17352 MM 1-1/2 & 2 pick-up Board.........................$66.00
17376 Washer Flat 5/16 USS  S.S............................$1.00
17387 Lockwasher 5/16 S.S......................................$1.00
17409 F-Valve Adapter 1/4 NPT Male.....................$18.00
17410 Assy F-Valve w/1/4 NPT Male......................$41.00
17432 Coupling PVC80 1-1/2 S x S........................$42.00
17521 Diaphragm A20 w/Teflon Face...................$331.00
17575 Screw 1/4-20 x 2-3/4 skt hd............................$2.00
17943 Diaphragm 3/4 Type S Pil Valv.....................$11.00
18036 Diaphragm A3/T4 Water Side.......................$86.00
18065 Bushing PVC40 1-1/4s x 3/4t........................$10.00

18079 Strain Bushing, 1/2NPT..................................$9.00
18110 Sensor-PVC Turbine New Complete..........$384.00
18143 Screw 1/4-20 x 2.5 SS....................................$2.00
18154 O-Ring Viton (2-143).......................................$6.00
18165 Cylinder PVC For A3 Head.........................$189.00
18198 Pilot Valve Type AS 24AC..........................$724.00
18210 Body For Pilot Valve Type AS w/Sleeve.....$341.00
18221 Cover Small For Type AS Valve...................$22.00
18243 Cover Large For Type AS Elec w/Orifice & pin

$112.00
18287 Body For Type A Pilot Valve w/Sleeve........$537.00
18298 Cover Small Type A Pilot Valv......................$35.00
18310 Cover Large Type A Elec Valve w/Orifice & pin

$162.00
18321 Coil Operator 24ac Type A Valv..................$110.00
18332 Coil Operator 12dc Type A Valv..................$110.00
18343 Poppet Shaft 3/4 Type S&A........................$114.00
18354 Poppet Cap Small 3/4 Type S&A..................$64.00
18365 Poppet Retainer 3/4 Type S&A.....................$50.00
18376 Poppet Cap Large 3/4 Type S&A..................$43.00
18387 Washer Retainer 3/4 Type S&A....................$29.00
18487 Lockwasher 1/4 SS Internal............................$1.00
18509 Poppet 3/4 Type S & A Valve..........................$7.25
18510 Spring For 3/4 Type A&S Valve......................$7.00
18532 Hosebarb 90º 3/4 NPT x 3/4.........................$11.00
18566 Hosebarb Elbow Assembly...........................$12.00
18654 Pilot Valve Type A 3/4 12VDC....................$838.00
18665 Pilot Valve Type A 3/4 24VAC....................$840.00
18676 O-Ring (2-030)................................................$2.00
18698 Screw 5-40 x 1-1/2 SS Allen.........................$11.00
18832 Saddle Cast Iron 10 x 1-1/2........................$287.00
18843 Saddle Cast Iron 12 x 1-1/2........................$359.00
18853 Insertion Meter 10-48 PW IP202..............$1,552.00
18932 Diaphragm Kit A20 Teflon...........................$367.00
18946 Kit Rotor–3-6” Flange Turbine.....................$581.00
19021 Terminal Blk Type A Valve Complete...........$18.00
19043 Repair Kit for 3/4” Type A.............................$37.00
19054 Pilot Valve Type AS 12VDC........................$724.00
19065 Repair Kit for 1/2” Type AS...........................$25.00
19076 Totalizer Counter 6 Digit LCD.....................$244.00
19085 Screw For 19021 Cable Connect....................$3.00
19109 Dial Scale Sticker - #2 Med.............................$4.00
19110 Gasket For 19021 Cable Connec....................$3.00
19150 Lid DB & DD Complete.................................$57.00
19168 Tee SS 1"......................................................$25.00
19241 Output Cable Assy J Adv..............................$43.00
19275 Strainer Kit for Pilot Valve.............................$76.00
19283 Tee For Insertion Meter 1...........................$308.00
19298 Tee For Insertion Meter 1.5........................$308.00
19309 Tee For Insertion Meter 2...........................$308.00
19310 Saddle PVC For Ins Meter 3.......................$336.00
19321 Saddle PVC For Ins Meter 4.......................$392.00
19332 Saddle PVC For Ins Meter 6.......................$497.00
19340 Saddle PVC For Ins Meter 8.......................$612.00
19358 Saddle Iron For Insertion Meter 8...............$801.00
19373 Stand SS Type AS Package Unit................$117.00
19382 Mounting Plate J Adv/EF..............................$43.00
19399 Adapter Plastic 3/4”FNPT x MGH...................$6.00
19407 Adapter 1/2 MNPT x MGH Plastic...................$6.00
19465 Tubing 1/8ID x 1/4OD Clear............................$5.00

H.E. Anderson Co. 4 05/10/23



19473 Blend Tank Mount Kit 1.9 Gal.......................$42.00
19498 Diaphragm A10 w/Teflon Face...................$286.00
19510 Stand SS Type AS Floor Mount..................$125.00
19543 Suction Pipe High Capacity 3FT...................$87.00
19556 Suction Pipe High Capacity 2FT...................$87.00
19564 Suction Pipe High Capacity 5FT...................$87.00
19587 Meter Complete Series DD (50).................$993.00
19598 Stand SS Type AS Wall Mount...................$125.00
19609 Spring For Poppet Hastelloy C.......................$5.00
19613 Stand SS AS Floor Mount Multi..................$132.00
19621 Tee PVC40 2 Inch SxSxS Gray....................$25.00
19632 Quick Tee For EC & pH Probes....................$65.00
19654 Retaining Pin For 2.........................................$8.00
19689 Bulkhead Strainer Kit HC............................$168.00
19832 PC Board Medi & D 12VDC........................$192.00
19845 PC Board Med & D 12VDC-Master............$192.00
19898 Kit Poppet CV w/Springs..............................$29.00
20109 Nameplate DD & DB.....................................$16.00
20110 Nameplate Medicator...................................$16.00
20121 Nameplate Hea Logo 1.25 x 2.5...................$13.00
20132 Screw 8-32 x .0500 Nylon Ph.........................$1.00
20143 Pushbutton Extender......................................$9.00
20276 Power Supply 12VDC 800MA.......................$62.00
20398 VMC Seat Gasket Viton................................$20.00
20398EP VMC Seat Gasket EPDM.............................$14.00
20398PV VMC Seat Gasket-Premium Viton................$57.00
20529 Bushing SS 1 x 1/2.......................................$20.00
20537 Bushing SS 1-1/4 x 1/2.................................$40.00
20545 Tee SS 1-1/4 FNPT......................................$75.00
20595 Conduit Hanger SS 1-7/8”............................$15.00
20602 Conduit Hanger SS 4”..................................$31.00
20619 Conduit Hanger SS 3-1/2”............................$31.00
20628 Conduit Hanger SS 2-3/8”............................$15.00
20636 Conduit Hanger SS 2-7/8”............................$16.00
20644 Bushing PVC80 3/4T x 1/2T ........................$22.00
20660 Tee PP80 3/4T x 3/4T x 3/4T........................$50.00
20676 Tee PP80 1-1/4Tx1-1/4Tx1-1/4T..................$50.00
20687 Bushing PVC80 1-1/4MT x 1/2FT.................$22.00
20698 Tee PP80 1T x 1T x 1T................................$19.00
20710 Tank Blending 1.9 Gallon...........................$271.00
20721 Mixing Pipe For 20710 Blender..................$111.00
20732 Head PVC A3...............................................$79.00
20743 Dial Gear - A3...............................................$16.00
20765 Head PVC A10.............................................$79.00
20776 Dial Gear - A10.............................................$15.00
20787 Kit Convert P1/2-H1/2 To A10....................$296.00
20798 Diaphragm Kit A10 Teflon...........................$311.00
20809 Kit Convert H4 & P4 To A20.......................$357.00
20887 Pilot Connector Set.......................................$24.00
20910 Head 10ml Acrylic (A10 Style)......................$93.00
20921 VMC3 Block 1...............................................$86.00
20932 VMC3 Block 2.............................................$144.00
20943 VMC3 Block 3...............................................$97.00
20965 VMC3 Prime Vent.........................................$15.00
20976 VMC3 Complete.........................................$374.00
20976E VMC3 Complete Ceramic...........................$447.00
20987 Screw 10-24 x 5 1/2 SS..................................$8.00
20998 VMC3 Valve Set.........................................$420.00
20998E VMC3 Valve Set Ceramic...........................$520.00
21010 VMC3 Rebuild Kit.........................................$57.00

21021 VMC3 Diaphragm Viton................................$31.00
21030 Pressure Relief Valve.................................$147.00
21143 Plug PVC Insertion Meter.............................$31.00
21155 Pressure Relief Body......................................$0.00
21165 VMC3 IPF Nozzle.........................................$75.00
21176 VMC3 Seat Housing Assy.............................$71.00
21185 O-Ring For 1.9 Gal. Tank Lid..........................$7.00
21198 Screw 1/4-20 x 1-1/4 skt hd............................$1.00
21209 VMC3  IPF..................................................$125.00
21209E VMC3  IPF Ceramic....................................$157.00
21209P VMC3  IPF (Premium Seats).......................$160.00
21210 VMC3  Block 4/IPF Seat Housing.................$58.00
21221 Screw 10-24 x 5 SS........................................$4.00
21238 Conduit Hanger SS 1-5/16".............................$9.00
21254 Pressure Relief Valve Std Vit..........................$3.00
21263 VMC3 Diaphragm TFE (PS)..........................$31.00
21296 1" Insertion Meter w/Tee..........................$1,090.00
21303 1.5" Insertion Meter w/Tee.......................$1,090.00
21311 2" Insertion Meter w/Tee..........................$1,115.00
21329 3" Insertion Meter w/Saddle.....................$1,175.00
21337 4" Insertion Meter w/Saddle.....................$1,375.00
21345 6" Insertion Meter w/Saddle.....................$1,385.00
21353 8" Insertion Meter w/Saddle.....................$1,650.00
22009 SCS Holder H8.............................................$31.00
22017 SCS Holder Retaining Nut H8.........................$2.00
22025 SCS Pad H8.................................................$10.00
22038 Stand H8 Dual.............................................$160.00
22041 Diaphragm Connecting Shaft H8..................$11.00
22059 Spring Holder PVC H8....................................$4.00
22067 Pump Head PVC H8.....................................$55.00
22083 Pump Head Plate Spacer H8........................$11.00
22091 Stand H8.....................................................$136.00
22108 Dial Holder Mtg Bracket................................$22.00
22116 Screw 10-32 x 1" SS.......................................$2.00
22124 Stand for H8 Valve......................................$119.00
22132 Diaphragm #8 WS EPDM...........................$152.00
22140 Dial Sticker H8................................................$4.00
22182 Flange H8...................................................$208.00
22215 Pump Head Acrylic H8..................................$97.00
22223 SCS Holder O-Ring H8...................................$1.00
22231 Bolt H8 Flange 1/4-20 X 4 HX H.....................$6.00
22257 Screw 1/4-20 x 1-1/2 SS Hex..........................$2.00
22265 Screw 1/4-20x1-1/2 Flat Skt SS......................$3.00
22273 Spring H8......................................................$26.00
22281 Screw 1/4-20 x 1/2 SS Flat Skt.......................$2.00
22306 Screw 1/4-20 x 3/4 SS Hex.............................$2.00
22314 Lockwasher 1/4 SS Split.................................$1.00
22322 Hosebarb PP 90º 1/2 NPT x 3/4...................$10.00
22330 Dial Scale #8 Complete................................$50.00
22348 Screw 1/4-20 x 1¼ SS Hex.............................$2.00
22356 Screw 1/4-20 x 1¾ SS Hex.............................$2.00
22364 Screw 1/4-20 x 1¾ SS Flat Skt.......................$2.00
22377 Screw 1/4-20 x 2 SS HxHd Full Thread..........$2.00
22393 Diaphragm #8CS Viton...............................$208.00
22400 Diaphragm Kit #8 Std..................................$228.00
22418 Diaphragm Kit #8 Viton...............................$314.00
23416 Manifold H8 24 VAC 1 Pump......................$954.00
23416DC Manifold H8 12 VDC 1 Pump......................$954.00
23424 Manifold H8 24 VAC 2 Pump......................$954.00
23424DC Manifold H8 12 VDC 2 Pump......................$954.00

H.E. Anderson Co. 5 05/10/23



26006 Air Compressor 60 Gal. 5HP...................$2,500.00
27950 Dial Scale Sticker - A10..................................$7.00
27960 Dial Scale Sticker - A3....................................$7.00
28127 Hose Adapter Barb Only 1/4...........................$7.00
28135 Hose Adapter Barb Only 1/2...........................$7.00
28143 Hose Adapter Nut Only...................................$4.00
28169 Water Hammer Arrestor SS 2"....................$563.00
28177 Water Hammer Arrestor SS 1-1/2".............$171.00
28185 Water Hammer Arrestor SS 1"....................$142.00
28382 Nut 5/16-18 SS Nylon Insert...........................$1.00
28408 J Bolt 1” Sqr Tube Manifold............................$5.00
28416 J Bolt 1-1/2” Sqr Tube Manifold......................$6.00
28515 Bushing PP 1 T x .25 T...................................$7.00
28523 Check Valve PP 1 inch T..............................$47.00
28531 Check Valve PP 2 inch T..............................$64.00
28560 Nipple PVC80 3/4 x 24 Inch..........................$15.00
28581 Nipple PVC80 3/4 x 60 Inch..........................$37.00
28590 Nipple PVC80 3/4 x 36 Inch..........................$20.00
28600 Screen Adapter 3/4 MNPT............................$18.00
29076 #8 Flange Reinforcing Ring Kit.....................$87.00
29084 #8 Reinforce Plate 1/4 Circle........................$22.00
29110 #4 head Reinforcing Plate............................$60.00
29128 #4 head Reinforcing Plate-Full.....................$60.00
29230 Calibration Scale..........................................$27.00
29240 Calibration Scale Holder...............................$15.00
40410 Adder Kit AS Manifold 12VDC Air...............$915.00
40428 Adder Kit AS Manifold 24VAC Air...............$915.00
40452 Manifold AS 2 Position 24VAC................$1,849.00
40460 Manifold AS 3 Position 24VAC................$2,427.00
40478 Manifold AS 4 Position 24VAC................$3,005.00
40486 Manifold AS 5 Position 24VAC................$3,582.00
40494 Manifold AS 6 Position 24VAC................$4,160.00
40501 Manifold AS 7 Position 24VAC................$4,796.00
40519 Manifold AS 8 Position 24VAC................$5,431.00
40910 Manifold Single Type AS 24VAC.............$1,177.00
40921 Manifold Single Type AS 12VDC.............$1,177.00
42076 Manifold A 12VDC 2-Shutoff....................$1,087.00
42076S Manifold A 12VDC 2-Strainer..................$1,099.00
42087 Manifold A 12VDC 3-Shutoff....................$1,209.00
42087S Manifold A 12VDC 3-Strainer..................$1,214.00
42098 Manifold A 12VDC 4-Shutoff....................$1,331.00
42098S Manifold A 12VDC 4-Strainer..................$1,330.00
42109 Manifold A 12VDC 5-Shutoff....................$1,441.00
42109S Manifold A 12VDC 5-Strainer..................$1,434.00
42110 Manifold A 12VDC 6-Shutoff....................$1,551.00
42110S Manifold A 12VDC 6-Strainer..................$1,537.00
42132 Manifold A 24VAC 2-Shutoff.......................$989.00
42132S Manifold 3/4A 24 VAC 2-Strainer.............$1,099.00
42143 Manifold A 24VAC 3-Shutoff....................$1,112.00
42143S Manifold 3/4A 24 VAC 3-Strainer.............$1,214.00
42154 Manifold A 24VAC 4-Shutoff....................$1,221.00
42154S Manifold 3/4A 24 VAC 4-Strainer.............$1,330.00
42165 Manifold A 24VAC 5-Shutoff....................$1,343.00
42165S Manifold 3/4A 24 VAC 5-Strainer.............$1,434.00
42176 Manifold A 24VAC 6-Shutoff....................$1,465.00
42176S Manifold 3/4A 24 VAC 6-Strainer.............$1,537.00
42185 Manifold Single AS 24VAC Wall.................$731.00
42193 Manifold Single AS 12VDC Wall.................$731.00
45509 Pumper P1 Standard Acrylic.......................$668.00
45510 Pumper P1 Standard PVC..........................$668.00

45532 Pumper P1 Viton PVC................................$811.00
45543 Pumper H1 Standard Acrylic.......................$630.00
45554 Pumper H1 Standard PVC..........................$950.00
46009 Pumper P2 Standard Acrylic.......................$668.00
46010 Pumper P2 Standard PVC..........................$668.00
46032 Pumper P2 Viton PVC................................$811.00
46043 Pumper H2 Standard Acrylic.......................$873.00
46054 Pumper H2 Standard PVC..........................$715.00
46062 Pumper H2 Viton PVC................................$956.00
46509 Pumper P4 Standard Acrylic.......................$689.00
46510 Pumper P4 Standard PVC..........................$731.00
46532 Pumper P4 Viton PVC................................$798.00
46543 Pumper H4 Standard Acrylic.......................$898.00
46554 Pumper H4 Standard PVC..........................$731.00
46576 Pumper H4 Viton PVC................................$798.00
46609 PUMPER ASSM P2 EDPM ACRYL/MED...$563.00
46610 Pumper A3 Teflon PVC...............................$790.00
46621 Pumper A10 Tef PVC.................................$773.00
46632 Pumper A10 Tef Acrylic..............................$773.00
46640 Pumper A10 Viton PVC..............................$382.00
46658 Pumper A3 Viton PVC................................$749.00
46666 Pumper A3 EPDM PVC..............................$749.00
46674 Pumper P2 Tef Acryl/Medicator..................$811.00
47587 Pumper A20 Teflon PVC.............................$894.00
48009 Pumper P1 LP Standard Acrylic..................$839.00
48010 Pumper P1 LP Standard PVC.....................$792.00
48043 Pumper P2 LP Standard Acrylic..................$839.00
48498 Pumper H8 Standard Acrylic....................$1,266.00
48505 Pumper H8 Standard PVC.......................$1,266.00
48513 Pumper A3 Viton Acrylic.................................$0.00
48521 Solenoid Pump 15GPD P-V........................$885.00
48539 Solenoid Pump 30GPD P-V........................$885.00
48547 Solenoid Pump 45GPD P-V........................$885.00
71423 1.00 Round PP Rod.................................................
75095 Bracket for 1.9 Blend Tank...........................$36.00
A10-UCP Pumper Complete 10ml W/Suc Pipe........$1,128.00
A10-VC Pumper Complete 10ml...........................$1,057.00
A10-VCP Pumper Complete 10ml W/Suc Pipe........$1,068.00
A10-VCPL Pumper Complete 10ml Long S Pipe.......$1,128.00
A20-UB Pumper Complete 20ml...........................$1,128.00
A20-VC Pumper Complete 20ml...........................$1,172.00
A20-VCP Pumper Complete 20ml W/Suc Pipe........$1,179.00
A20-VCPL Pumper Complete 20ml Long S Pipe.......$1,246.00
A3-GCP Pumper Complete 3ml W/Suc Pipe..........$1,031.00
A3-KC Pumper 3ml Viton/Acrylic............................$959.00
A3-KCP Pumper 3ml Viton/Acrylic w/Suc..............$1,031.00
A3-RC Pumper Complete 3ml................................$958.00
A3-RCP Pumper Complete 3ml W/Suc Pipe..........$1,031.00
A3-VC Pumper Complete 3ml.............................$1,001.00
A3-VCP Pumper Complete 3ml W/Suc Pipe.............$998.00
A3-VCPL Pumper Complete 3ml Long S Pipe.........$1,073.00
AS1-24BW Manifold AS 1 Position 24VAC.................$1,343.00
AS2-12BW Manifold AS 2 Position 12VDC A/W.........$1,849.00
AS2-12CF Manifold AS 2 Position 12VDC Water/Floor

$1,724.00
AS4-12BW Manifold AS 4 Position 12VDC A/W.........$3,005.00
AS6-12BW Manifold AS 6 Position 12VDC A/W.........$4,160.00
DB100 Ratio:Feeder 20gpm 1:100......................$1,470.00
DB1000 Ratio:Feeder 20gpm 1:1000....................$1,470.00
DB1000W R:F 20gpm 1:1000-Wall Mount................$1,837.00

H.E. Anderson Co. 6 05/10/23



DB100W Ratio:Feeder 20gpm 1:100-Wall..............$1,837.00
DB1200 Ratio:Feeder Hypoclorinator....................$1,470.00
DB1200LP Ratio:Feeder LP Hypoclorinator..............$1,716.00
DB1200W R:F Hypoclorinator Wall Mount................$1,837.00
DD100 Ratio:Feeder 50gpm 1:100......................$2,450.00
DD1000 Ratio:Feeder 50gpm 1:1000....................$2,450.00
DD1200 Ratio:Feeder 50gpm 1:1200....................$2,450.00
DD1200LP Ratio:Feeder 50gpm 1:1200 LP...............$2,695.00
EXPEDITE Expedite Fee for Shipping............................$62.00
H1-CD Pumper Complete 10ml..............................$910.00
H1-HD Pumper Complete Hi Cap 10ml..................$988.00
H1-QDE Pumper Complete 10ml...........................$1,137.00
H2-CD Pumper Complete 20ml...........................$1,052.00
H2-HD Pumper Complete Hi Cap 20ml..................$935.00
H2-HDE Pumper Complete HC 20ml  W/Cer.........$1,180.00
H2-QD Pumper Complete 20ml...........................$1,080.00
H2-QDE Pumper Complete 20ml..................................$0.00
H4-CD Pumper Complete Hi Cap 40ml...............$1,052.00
H4-CDE Pumper Complete HC 40ml W/Cer..........$1,246.00
H4-HD Pumper Complete Hi Cap 40ml..................$998.00
H4-QD Pumper Hi Cap 40ml PVC & Viton..........$1,086.00
H4-QDE Pumper Hi Cap 40ml PVC Vit-Cer...........$1,374.00
H8-HD Pumper Compl Hi Cap 80ml PVC............$1,487.00
H8-HDE Pumper Compl Hi Cap 80 w/Cer.............$1,612.00
Item No. Description (LEN=0030)..................................Price
JA160D Deluxe Package System........................$21,878.00
M101D Medicator 15gpm W/Totalizer..................$1,832.00
M202D Medicator 40gpm W/Totalizer..................$2,848.00
P1-BA Pumper Complete 10ml..............................$855.00
P1-BAR Pumper Complete 10ml Low Presr.............$913.00
P1-BB Pumper Complete 10ml..............................$811.00
P1-BC Pumper Complete 10ml..............................$855.00
P1-DC Pumper Complete 10ml..............................$883.00
P1-DCP Pumper Complete 10ml W/Suctio...............$955.00
P1-FA Pumper Complete 10ml..............................$736.00
P1-HAR Pumper Complete 10 ml LP........................$963.00

P1-HB Pumper Complete 10ml..............................$857.00
P1-HBP Pumper Complete 10ml w/Pipe...................$929.00
P1-HC Pumper Complete 10ml..............................$855.00
P1-HCP Pumper Compete 10ml w/Suc Pipe............$975.00
P1-RC Pumper 10 ml PVC & Viton.........................$891.00
P1-RCP Pumper 10ml PVC & Viton S P................$1,014.00
P2-BA Pumper Complete 20ml..............................$855.00
P2-BAR Pumper Complete 20ml Low Presr.............$913.00
P2-BB Pumper Complete 20ml..............................$811.00
P2-BBR Pumper Complete 20ml LP.........................$988.00
P2-BC Pumper Complete 20ml..............................$855.00
P2-DBP Pumper Complete 20ml W/Suc Pip.............$910.00
P2-DC Pumper Complete 20ml..............................$883.00
P2-DCP Pumper Complete 20ml W/Suc Pip.............$955.00
P2-HAR Pumper Complete 20ml LP.........................$963.00
P2-HB Pumper Complete 20ml..............................$857.00
P2-HBP Pumper Complete 20ml W/Suc Pip.............$929.00
P2-HC Pumper Complete 20ml..............................$855.00
P2-HCP Pumper Complete 20ml W/Suc Pip.............$975.00
P2-HCR Pumper Complete 20ml LP......................$1,078.00
P2-RC Pumper 20 ml PVC & Viton.........................$891.00
P2-RCP Pumper 20ml PVC & Viton S P.......................$0.00
P4-BA Pumper Complete 40 Ml.............................$799.00
P4-BC Pumper Complete 40ml..............................$919.00
P4-DA Pumper Complete 40ml..............................$828.00
P4-DC Pumper Complete 40ml..............................$946.00
P4-HB Pumper Complete 40ml..............................$921.00
P4-HC Pumper Complete 40ml..............................$890.00
P4-RC Pumper Complete 40ml..............................$956.00
SP-15P-VCP......................................Solenoid Pump Complete

$1,154.00
SP-30P-VCP......................................Solenoid Pump Complete

$1,154.00
SP-45P-VCP......................................Solenoid Pump Complete

$1,154.00

H.E. Anderson Co. 7 05/10/23


